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17. A volunteer ambulance service handles 0 to 5 service calls on any given day. The proba-
bility distribution for the number of service calls is as follows.

Number of Service Calls  Probability Number of Service Calls  Probability

0 .10 3 .20
1 A5 4 A5

qja‘/ 2 30 5 10
\

a. What is the expected number of service calls?
b. What is the variance in the number of service calls? What is the standard deviation?

[0 What is Ywe probabiliny £ of |easFdcalds?
Pxzw= B(W+ 5

= 01 + ol

= o-%8

STUDENTS-HUB.com


https://students-hub.com

2] At Yok one ol
Pp1)=1- Plxc D)
=1 - o\

=09

Finel £60)

By caledlawr= 2.4¢

Y| Finel Var(X)
By calewlpter = (13

STUDENTS-HUB.com

CALCYLIATORY solwesikal vens)

~Clean ( SiBF wude 3 = =)
- Vnaolc 2
- Dote. Eufry:
O Shift, ol MY
’ n=|
- shaf}h 2

6(x) = ShitF 2 1L = .13

- SLEF 2 3 2 meth oy
€rrek~0 Z— n=|y (h-l)ft;u %) &

-
S —



https://students-hub.com

5Y: The Bivendal Diskribukion wad) 55 5

* Two pos'.Ue oucomes - Success
Coin H T failwe
Birtn. R,

Bxam Ra:s P &ul

* Binomial Expeﬁ'mewl'
QI sn- 4vials
[2 in ench Hrial 2 oubeomes : SucCess o8  Feilwre
2] Plsuxces)=p , PCARuluwel=\- P 5 one He Sowe on oah Eril
U] The friads are (ndependat

RER: Toss a Coin IO Gimes ’l
—n= loo @
- Hod, teul \/
- By PM =L Bzu ““B
— indepavied- L |

s Binomiosl Roandon Vacieble
CthchGf o JD)'ho‘m:M fxpeh'mewf‘. o briads = e ]'x$(¢l=ﬁ'3=P

_D.eﬁﬂLﬂ‘\t romdem  Varisble X ¢t be Hhe number of suxes
in n - trials
X =20,1,2 ..., lIoo =P iscree \oricbfes
- X is collad a Livemal Iwdem  Vewrjoble
X = B,P
b> X =B )

Lotk x- RCn,p), then -

The pProbability Punction for X s given by,
has e— P00 = Cn Cx) (P Ci-py™®)

* nN= o rriads

° X= ¢k o Success

- PO = tue probokibiy of v- Success in hrials

* P= pC(success)

* PlRake) =1-P

STUDENTS-HUB.com


https://students-hub.com

STUDENTS-HUB.com

[2] The eypecral Vake oF x:
E = n-p

[3] The Variemee of X "

Vo () = np C1-P) v

=
st = Vvarem BZ“ _ H“B

EEX: 57. «f Hue seleckel ?)’m a Pt‘odmd‘or Lwe owe

e Cectce

II' Tn a sﬂ,mpb “e ’1000 il—ems,wha,{- s ‘the expedd
Number < deRetHve e 7 what 1S the \Mria,nce'?

- EG) = hp= [0 » 005 = 5o
e Var(s ap Ci-p) = 50 (0.95) = Y5

Tn. a. Sevmple of 2,000 i}oms, Whot 1vs Hhie exeechﬂ
Number wf yondefeckive jtoms 2 whak is Ywe Variance 2

)/: #Hal nonde feckive
= 2,000 p=04s

E(D= 1900

Tn o sompe o 10 ilems , What s The prsbaliliry < Exactly
6 defeekive ?
Ey= (nG) Ce*) (a-er"™)
)= Lo c8) (605X (o-98)7 2.67 w8

v
) -

5 Bewe
o -Obvpo 267

I a Somple & B Tirems , what ic the Probabilly o of
leask 2 e fed-ve ?

A= B(3,005

plx 2 2) £+ €@+ - +P(3)
= |- p(x<2)
s |- El‘-’b)-rﬂl)]

= 1= TU(8C0)( 005 Co96)%]+ [BcD (o.08)'. Cots) )
= o0.6532


https://students-hub.com

Cwe ynore thaw

Whak 38 the probabiky «f b most 2 non-clefeckive
hems fn e Somple «f £ ifems

w = B(&, 0.95)
PO <2) = £+ 1+

55:
|he poissan Diskwbukion

STUDENTS-HUB.com

& al Ocouremces o om ewewk in o Certesin peried

#» Poisson gxPenmenJ- :

T""e P’(’ob&blh\;j ot on occurramce is the Same ok tny 2 el)\nJ
inkervals.

‘The Pmbcdofh}y ol Ocowente of non- Occurence o ind cpond en-
c e preb«‘bi\i\-y f OCCusenCe QF non- OCCurence R cny oHer

inked el
$The prbbikly Panchon for a poisssn Distvi bubem s @iven by:

X _M .
ﬁoo: /J e——> Shitk ln-A * = # Q-Pcncwme o an event in o

w] Certoin ?ev-‘od- Y=, 1, 2 --.
* M=The epectal pumbey ok cocuremnces
w o Qiven pevind.

M X= PO]’$<>M m\b)mm \Mrfab\e,/u.-— |0 OCcuramce o pemg‘

M8 - 1o°e™®
5l
= 0.033%

/'“' lexst 2 Occurtnces

P (X2 2) = P2+ Rz)s - Fooy

< = |- 9(x<2.')
= \—ECO)*?CJ)I
= Q.494s5


https://students-hub.com

*‘Q’\N, fo: 2\% -
1S oewdsoeds Qi Por ___“/f/
@A«@e@epermw

%: 1-2S Por mendia

bl No oxadeond~ =0 , M= 12 02 N9, Y oD

ko.-,‘&"'”: 62365
© «=), )= o0.353
A pe vore phan L
P(%>7) = - [ et

— 0-25¢y

e
S —

BL0- B

STUDENTS-HUB.com


https://students-hub.com

